Turniej nr 7 dnia 23 wrzesnia 2022

Turniej 10 osobowy Wynik meczu Tabela
| runda Pozycja Punkty Sety
Adam Jo - Sylwek 2 : 0 1 Jacek 8 16 - 2
Sebastian - Janek Junior 2 :0 2 Sebastian 8 16 -3
Jacek - Heniek U 2 :0 3 Adam Jo 8 16 - 3
Mirek W - Zbyszek C 0 : 2 4 Zbyszek C 5 11-9
Jacek Pt - Rysiek U 2 : 0 5 Janek Junior 4 9-11
6 Jacek Pt 4 8-10
Sylwek - Rysiek U 2 : 0 7 Mirek W 4 9-12
Zbyszek C - Jacek Pt 2 :0 8 Sylwek 2 6 - 14
Heniek U - Mirek W 1 : 2 9 Heniek U 1 5-17
Janek Junior - Jacek 0 : 2 10 Rysiek U 1 2-17
Adam Jo - Sebastian 0 : 2
Sebastian - Sylwek 2 : 0
Jacek - Adam Jo 0 : 2
Mirek W - Janek Junior 1 : 2
Jacek Pt - Heniek U 2 :0
Rysiek U - Zbyszek C 0 : 2
Sylwek - Zbyszek C 1 : 2
Heniek U - Rysiek U 1 : 2
Janek Junior - Jacek Pt 0 : 2
Adam Jo - Mirek W 2 :0
Sebastian - Jacek 0 : 2
Jacek - Sylwek 2 : 0
Mirek W - Sebastian 0 : 2
Jacek Pt - Adam Jo 0 : 2
Rysiek U - Janek Junior 0 : 2
Zbyszek C - Heniek U 2 :0
Sylwek - Heniek U 2 : 0
Janek Junior - Zbyszek C 2 : 0
Adam Jo - Rysiek U 2 : 0
Sebastian - Jacek Pt 2 :0
Jacek - Mirek W 2 :0
Mirek W - Sylwek 2 1
Jacek Pt - Jacek 0 : 2
Rysiek U - Sebastian 0 : 2
Zbyszek C - Adam Jo 0 : 2
Heniek U - Janek Junior 2 1
Sylwek - Janek Junior 0 : 2
Adam Jo - Heniek U 2 1
Sebastian - Zbyszek C 2 1
Jacek - Rysiek U 2 : 0
Mirek W - Jacek Pt 2 :0
Jacek Pt - Sylwek 2 : 0
Rysiek U - Mirek W 0 : 2
Zbyszek C - Jacek 0 : 2
Heniek U - Sebastian 0 : 2
Janek Junior - Adam Jo 0 : 2
Cwiercfinaty
Jacek - Sylwek 2 : 0
Sebastian - Mirek W 2 :0
Adam Jo - Jacek Pt 2 :0
Zbyszek C - Janek Junior 2 : 0
Miejsca 5-8
Sylwek - Janek Junior 0 : 2
Mirek W - Jacek Pt 0 : 2
Péffinaty
Jacek - Zbyszek C 2 1
Sebastian - Adam Jo 2 1
Mecz o miejsce 9
Heniek U - Rysiek U 2 1
Mecz o miejsce 7
Klasyfikacja koncowa
Sylwek - Mirek W 0 : 2 Przyznane
MOTD punkty
Mecz o miejsce 5 1 Sebastian 10
2 Jacek 9
Janek Junior - Jacek Pt 0 : 2 3 Adam Jo 8
4 Zbyszek C 7
Mecz o miejsce 3 5 Jacek Pt 6
6 Janek Junior 5
Zbyszek C - Adam Jo 1 : 2 7 Mirek W 4
8 Sylwek 3
Mecz o miejsce 1 9 Heniek U +1 2
10 Rysiek U 1
Jacek - Sebastian 0 : 2




